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⑤Problems

② The G' KM matrix appears in the

w - boson interaction terms
,
after

going f-rein the
"

gauge basis
" to the

"

mass - basis
"

.

The G'KM matrix reads

Vaan = (4)
+Ld

,

(1)

with L "
,
Ld the transformation

matrices of read£
, respectively .

☒inane M
'" '

is already diagonal,
the Gun -mouth * is given by

Vacm = ↳
.
(2)

To find it ,
we need to actually

diagonalize Mcd )
,

Cd)Mcd) = Van M diagonal Voter
-

(3)

Vcxm comprises as columns the

normalized eigenvectors of lid?



A straightforward exercise ④
rereads that

van -- (: ÷
-

%) ,%
I

0 0

with c= taFtb2
.

dompariy cut to the rotation

matrix

Cosima -sinudmix

(? sinomix asomix) )
I 0 0

we immediately conclude that

Omix = •cretan/%) ◦
(6)

③ dine the matrix is real
,
there is

n.no G'1 violation .
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⑨ once again we have a diagonal
up -quark mass matrix

, meaning
that Vaan is such that

(d)
µ
'd)

= Vaan µ diagonal VAÉM a

(1)

We find

Vaan = 1-

¥4T
[{↳%) , (2)

meaning that

0mi ✗ = arctan /%) •

③ Since

his = b , = Emb
,
Md -121 -9%-44

we find

•mix ≈ avatarFÉ≈ 12,5° .


